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BOR – 3 
muka tanah – 0.45 m. M.J 

 

 

 

 

 



 



 

 
Total Stress 
 

     
     

BOR 1 BOR 2 BOR 3 

Lapis 1 Lapis 1 Lapis 1 
c = 1.4 t/m2   c = 2.6 t/m2   c = 0.81 t/m2   
φ = 20.5o   φ = 19o   φ = 15.4o   
γ = 1.61 t/m3   γ = 1.601 t/m3   γ = 1.615 t/m3   

Lapis 2 Lapis 2 Lapis 2 
c = 1.4 t/m2   c = 1.4 t/m2   c = 0.8 t/m2   
φ = 22.4o   φ = 20.4o   φ = 16.7o   
γ = 1.681 t/m3   γ = 1.611 t/m3   γ = 1.541 t/m3   

Lapis 3 Lapis 3 Lapis 3 
c = 0   c = 0   c = 0   
φ = 40o   φ = 40o   φ = 40o   
γ = 2 t/m3   γ = 2 t/m3   γ = 2 t/m3   
γ sat = 2.03 t/m3   γ sat = 2.03 t/m3   γ sat = 2.03 t/m3   
      

 

 

 

 

 

 

 

 

 

 

 



 

 

Effective Stress 
 

     
     

BOR 1 BOR 2 BOR 3 

Lapis 1 Lapis 1 Lapis 1 
c = 2.4 t/m2   c = 2.4 t/m2   c = 0.78 t/m2   
φ = 29.9o   φ = 25.9o   φ = 21.4o   
γ = 1.61 t/m3   γ = 1.601 t/m3   γ = 1.615 t/m3   

Lapis 2 Lapis 2 Lapis 2 
c = 1.1 t/m2   c = 2.4 t/m2   c = 0.56 t/m2   
φ = 31.4o   φ = 25.9o   φ = 24.4o   
γ = 1.681 t/m3   γ = 1.611 t/m3   γ = 1.541 t/m3   

Lapis 3 Lapis 3 Lapis 3 
c = 0   c = 0   c = 0   
φ = 40o   φ = 40o   φ = 40o   
γ = 2 t/m3   γ = 2 t/m3   γ = 2 t/m3   

γ sat = 2.03 t/m3   γ sat = 2.03 t/m3   γ sat = 2.03 t/m3   
      

 

 

 

 

 

 

 

 

 

 

 



 

 

 


